












































ATTENTION!

Check the rotation and the speed regulation of the power take-off of the tractor
to be at 540 rpm, as the spreader is recommended for this kind of speed.

The length of the PTO shaft must be adapted to the type of tractor used. The manufacturer
or distributor is not responsible for any damages caused by incorrect assembly or modification
and use or the PTO shaft.

5. SPREADER USE

ATTENTION!
Before use, please check that gears are adequately greased.

ATTENTION!

During the use of the spreader, please ensure that for a radius of 50 meters
/164 feet there are no obstacles including people or animals. If someone or
something enters, stop the tractor engine immediately.

ATTENTION!

ATTENTION!
- Engage & disengage power take off only when tractor is at idle speed.

» After engaging gradually increase speed to achieve 540 RPM.

- Please test the Ib./acre that you wish to spread before starting to work.

- When spreading in humid conditions, a humid media could not be spread uniformly or correctly
clogging and inaccurate distribution will occur.

- Avoid spreading during windy days in order to improve the uniformity of the distribution.

16 Fertilizer Spreader Mod.FS/PFS




5.1. ADJUSTMENTS

It is not possible to have an exact spreading chart for the centrifugal equipment , as the distributed
quantity depends on the speed, on the radius of distribution, on the quality and humidity of the media
and on the roughness of the land . The media must always be stored properly to keep its physical
characteristics unchanged . It is necessary to set the regulation lever of the spreader , before starting
the operation of distribution , adding in the possible limits , to keep it constant for all its duration.
The spreading charts contain the information, in order to determine the quantity to spread in the field;
these must be completed by competent operators.

5.1.1 HOW TO ADJUST THE SPREADER VANES

In order to assure an even distribution on both sides of the spreader , depending on the different
specific weight of the media used , the distributor vanes on the disc can have a different position.
When all the vanes are put in hole 1 ( as shown in the picture ), the distribution of the media is
increased towards the left, compared to the way the tractor is moving , If the vanes are put in hole 5,
the distribution will be more towards the right. When moving the vanes from 1 to 5 on the same
speed , there will be an increase of the distributing width . This adjustment must be made according
to the type of media used.

i

Spreading disc’s distributor vanes regulation

Fertilizer Spreader Mod.FS/PFS e




The media spreading is controlled through the regulation lever that moves the opeining section on the
bottom of the hopper.

In order to carry out ther regulation, after consulting the spreading chart, according to the type of product
to spread and to the spreader speed, it is necessary to move the lever “A” along the graduated scale“E”
and blocking it in the chosen postion with the pin“D”.

CHART

TRACTOR WORKING  QUANTITY SPREAD INLBSIACRE.

SPEED  WIDTH i
OPH P 2 3 4 5 6 7 8 &5

WHEAT
UIRGE 25 192 245 402 635 99 1004 1140 120
50

8
WULAR 50 60 G5 12 201 31 465 S 510 6 | AlTALEA

2
H
H
FERTLZER 75 “ Rl W W B A ’ oo e
2 o 0 s s
MEDUM 25 —uMeTe o5 15 e ue | s @0 s F
GRANILR 50 8 — 15 2435 43 53 S8 51 N T2 rh o
FERTILZER 75 ez W % T W feecown 3 W 310 X 8
3 2% wwmmss T s % 151
GRAMULAR 50 40 S 05166265 I Azt 42 56 [bbecmess 1 3 M %2
FERTILZER 75 T U #9 W | &R T o dmoam
CRISTAL 25 226 38 50 890 1236 130 1522 1622 [ suom P e 2 RWM
(AWON. 50 2 318 s 6B 67 Tl s |onas 7 8 @ i
SUPHATE] 75 TR 42 s N7 S 2 0 m om o
TR I T O
., H H A )
VAL 40 X - —s- 0 - 5 - P e g ozonom
(BASICSLAG) 80 T T i [ )

Before using the spreader make sure that the shutters could close
the holes completely with lever in “closed” position. Otherwise adjust
it through the nuts.

In order to spread from both sides (ref.1), “A” and “B” levers must be

in the same position, connected through the knob “C”. In order to carry

out the spreading only through the left side(ref.2) , it is necessary to

disconnect the two levers removing the“C” knob , set lever “B” in the

chosen position, given by the spreading chart, and bring lever “A”

towards the higher part in order to close the shutter of the right side. (ref. 1)
In order to spread only one on to the right side (ref.3) , you have to

move lever “B”up, in and regulate the quantity to spread withlever “A”.

3 1 2

Position Diagram

Distribution on right side (ref. 3) Distribution on left side (ref. 2)

18 Fertilizer Spreader Mod.FS/PFS










5.3.1. COMMON SPREADING PROBLEMS

* Drive speed
« Incorrect spreading width
« The spreading disc is not in a horizontal position compared to the land

« Drive speed is different to those suggested by the spreading tables,or not suitable for that
particular type of media

« Lack of cleaning on vanes and disc

COMMON PROBLEMS

« Poor quality media

» Wet or very humid media

« Incorrect media composition or it does not correspond to what is suited for spreader
« Presence of excessive media clumps may cause negative yield on spreading
 Debris in the media

COMMON PROBLEMS DUE TO THE SPREADER
* Spreading exits clogged
« Parts of the spreading discs assembly worn away or damaged

Fertilizer Spreader Mod.FS/PFS

21



6. GENERAL MAINTENANCE

The general maintenance criteria we suggest are based on company experience and on advice and
suggestions from customers. A good maintenance routine keeps operating costs low and allows for
a long spreader life.

WARNING!

When working on spreader, whether for maintenance, repair or cleaning, spreader
must be on the ground in stabile conditions, tractor’s engine should be turned off,
brakes set, keys turned off and removed from ignition.

If damage occurs, the operator must stop the spreader immediately,assess the problem,and proceed
with proper actions to fix the spreader. Do not use flammable fluids.

WARNING!

When doing maintenance, always wear proper safety attire and follow safety steps
in the manual.

In case of unusual vibrations, verify the conditions of the distributor on the spreading disc, the
tightness of all the nuts and bolts and the lubrication of the gear box. For every 8 hours of spreading
time, tighten all nuts and bolts. Any excessive vibration of the machine is dangerous and damaging
for the entire spreader.

22 Fertilizer Spreader Mod.FS/PFS



6.1. LUBRICATION
Before every use and after every 8 hours of spreading.

It is important that the grease zerks are well cleaned from mud or other
debris before injecting with grease. Lubricate with lithium grease at the
points shown in the piture.

Point to grease
6.2. REPLACEMENT OF THE DISTRIBUTOR VANES

If the distributor vanes of the disc brake or get damaged,it is necessary to replace them with new
ones. Unscrew the nuts and replace the damaged vane.

Fertilizer Spreader Mod.FS/PFS 23



6.3. STORAGE

It is good practice to keep up maintenance and fix repairs . Store the spreader in a dry sheltered
place, away from any chemicals. Fertilizers are generally corrosive , for this reason, it is important
that no particles remain in the spreader for long periods of time . Before storing the spreader, it is
important to:

* Thoroughly wash the spreader and inside the hopper

« Look over the spreader in order to check for any structural damages

« Verify that the safety labels are present,clean and readable,if not replace them.
» Grease all mechanical parts.

6.4. SPARE PARTS

For replacement parts for the spreader , the customer must use original parts offered ( see page
26-27 for serviceable parts list) from the manufacturer by ordering them directly from manufacturer
or authorized dealer. When ordering , it is necessary to have the serial number and model number
from the nameplate.

24 Fertilizer Spreader Mod.FS/PFS



7. WARRANTY

The manufacturer warrants to the original purchaser that the implement is free from defects in both
material and workmanship under normal use and service for a period of one (1) year for noncommercial
use. Any use by commercial,state,and municipalities will void warranty.

This Warranty shall not be interpreted to render the Manufacturer liable for damages of any kind, direct,
consequential , or contingent to property . Furthermore , Manufacturer shall not be liable for damages

resulting from any cause beyond its reasonable control. This Warranty does not extend to loss of crops,

any expense or loss for labor, supplies, rental machinery, or for any other reason.

This Warranty does not apply to any part or product which in the Manufacturer’s judgment shall have
been misused or damaged by accident or lack of normal maintenance or care, or which has been used
for purpose for which the product is not designed. Manufacturer reserves the right to make changes in
materials or design of the product at any time without notice.

This Warranty is extended solely to the original purchaser of the product. Should the original purchaser
sell or otherwise transfer this product to a third party , this Warranty does not transfer to the third party
purchaser in any way. There are no third party beneficiaries of this Warranty.

Warranty specifications:

* Must show proof of purchase within 1 year of purchase date.
« Photos must be provided to ensre proper warranty claim.

« Claims under this Warranty must be made to an authorized dealer, and must be submitted
within 30 days of failure.

The above information must be provided in order for us to process your claim and for you to receive a
Return Manufacturers Authorization # (RMA) from manufacturer. Any product determined to be defective
and has been issued an RMA # by the manufacturer will be picked up and returned to our facility for
conplete inspection and disposition of liability. Once a warranty claim is accepted, the manufacturer
will issue full credit or exchange the product at no cost to the store or customer.

KEEP FOR YOUR RECORDS

Record the model number, serial number, and the date of purchase with original sales receipt. This
information will be helpful to your dealer if parts or service are required.

MODEL NUMBER
SERIAL NUMBER
DATE OF PURCHASE
DEALER

Fertilizer Spreader Mod.FS/PFS 25



Fertilizer Spreader Mod.FS/PFS




PFS-480/PFS-770/FS-480/FS770 FERTILIZER SPREADER BREAKDOWN

Model No.

Ref.# PFS-480 | PFS-770] FS.480 | FS770 Description Req. Part# | Service
1 ® ° ® ® M10 Zinc Hex Nut 1 HJ204N NO
2 ) ) ° ® 10mm Zinc Lock Washer 7 HJ198N NO
3 ° ° ° ® 10mm Zinc Flat Washer 5 HJ194N NO
4 ) [ ) ) ) M10x25 Zinc Snap Head Bolt 5 HJ133B NO
5 [ ] [ ] (] [} M8x45 Zinc Hex Head Bolt 1 HJ134B NO
6 [ ) [ ) M8 Zinc Self-Locking Nut 1 HJ20IN NO
7 ® ® ® ® Agitator 1 HJ996M YES

[ ) Poly Hopper 480Lbs 1 HJ480PH YES

) Poly Hopper 770Lbs 1 HJTTOPH|  YES

8 ) Metal Hopper 480Lbs 1 HIA8OMH | YES
[} Metal Hopper 770Lbs 1 HJTTOMH|  YES

9 ) ) ® ® M8x16 Zinc Hex Head Bolt 8 HJ132B NO
10 ® ° [ ® Fan Viane 4 HJ6TIM YES
1 [ ) [ ] ® [} Spreading Disc(Spinner) 1 HJ681M YES
12 ) ) ® ) 8mm Zinc Flat Washer 8 HJ193N NO
13 ) ) ) ) 8mm Zinc Lock Washer 14 HJ205N NO
14 ® ® ) [ M8 Zinc Hex Nut 8 HJZ99N NO
15 ) ° ) [ 3PT Frame 1 HJ663M NO
16 ® ® ® ® Cat #1 Pin(Link Pin & Nut) 2 HJ762M NO
17 ) ) ® ) M8x20 Zinc Hex Socket Head Bolt 6 HJ1298 NO
18 ) [} [ [ M12x35 Zinc Hex Head Bolt 1 HJ764M NO
19 ® () ® ® 4.5mm Zinc Split Pin 1 HJ765M NO
20 [ ) [ ) [ [ Left Shutter 1 HJ766M YES
21 ° [} ® [ Left Tie Rod 1 HJ769M YES
22 ) ° [ [ Left Lever 1 HJ770M YES
23 ° ° ® [ Right Lever 1 HJT72M YES
24 ® ° [ [ Lever Lock Knob 1 RJTT3M YES
25 ° ) ) [ M12 Zinc Self-Locking Nut 1 HI77IM YES
26 ° ° ° [ Right Tie Rod 1 HJ768M YES
21 ® ° ) [ Right Shutter 1 HJ767M YES
28 [ ) [ ] ) [} 8x40 Spring Pin 1 HIT74M NO
29 ) ) [ ] [ ) Gearbox(Steel Housing) 1 HJ686M YES
30 [ ) [ ) ® [} Complete PTO Assembly 1 HJ687M YES
31 [ ) [ ) ® ) Hopper Washer 5 HJ200M NO
2 [ [ Rubber Sleeve 1 HJ991M YES
® ) Steel Sleeve 1 HJ992M NO

Fertilizer Spreader Mod.FS/PFS 27



Version:202107



